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A 2ot
M 2L &5 g DE(SY 2 /2E)
el 2B (ct9: &2
A B S(E) - NRAY - BES 0f & o e HIDZ2
Oad II2s e ZMAAE S22 5,000,000 * 14 5,000
HYFHAA 22HLAS (ZHI) 1,500,000 3,000,000 21,500,000
< 1,500,000
401 AlZHI LRI 1,500,000 3,000,000 21,500,000
s 1,500,000
01 Al£Hl 1,494,600 2,989,200 1,494,600
OEHIEXAEE 1,494,600
—dEFHAS 2FOHLAE 1,494,600,000& * 14! 1,494,600
= 1,494,600
03 A& =0yl 5,400 10,800 /5,400
OEHIEXAY 5,400
—dEFHAS 2L A 1,500,000,000& *0. 36% 5,400
= 5,400
LELMZ FHIAY 60,648 50,540 10,108
401 AlZHI X2 60,648 50,540 10,108
01 Al2HI 60,000 50,000 10,000
OO0I0FY10t U= L= 22T & BEoYAL & 30,000,000 141 30,000
OFas&=Z HBIAE 1,000,000 *307H 2= 30,000
03 A& =Y 648 540 108
OO0I0FI10F Us L= 2AZoHHE L HOYAE EX 30,000,000 *1.08% 324
OFRsa=z HHlAtg 30,000, 0002 *1.08% 324
g A2 1,200,000 1,200,000 0
= 600,000
= 180,000
o 420,000
401 Al&ZHI LRI 1,200,000 1,200,000 0
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A 2ot
M 2L &5 g DE(SY 2 /2E)
ol BIRXHE N (=S L
A B S(E) - NRAY - BES 0f & o e HIDZ2
= 600,000
= 180,000
= 420,000
01 Al&HI 1,192,440 1,192,440 0
OZE3 A AL 1,192,440
— 8% ANEE22 N ALY 1,192,440,000& 1,192,440
= 600,000
< 180,000
= 412,440
03 A& = HH 7,560 7,560 0
OZE3 A AL 7,560
-8 AME2 1,200,000,000& *0.63% 7,560
QLI AL 245,685 159,085 86,630
302 Ol=H Mol 2a= 10,000 0 10,000
02 QlI2telTol 24 = 10,000 0 10,000
Ogl2kol THoH 2 4f 10,000
—FRSUHZE 10,000, 0003 14 10,000
401 AlEHIZ R0 235,685 125,855 109,830
01 AI&HI 234,000 125,000 109,000
OS2 2ZANESRAAES 180,000
—dFANEE RNES 10,000,000 * 107 2 100,000
—HESAMEE RAE=> 10,000, 000& +57H 2~ 50,000
—SEANEE RAE=S 15,000, 000& 2K 2= 30,000
OZZ ot EXI & &I 25,000,000 24 2 50,000
OOgZNE s&= Lldf 2& 2,000,000% *29H 2~ 4,000
03 A&=0HYI 1,685 855 830
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30,000,000 141
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35,000
21,000
5,250
8,750

130,000

/95,000

308 Xkxl &t

>
a

JIS01H

A=

35,000

21,000
5,250

130,000

295,000




SN

X ZH -
o= -

RN

o &

M
0k OF ton
{0 rc o
]
S Ofy
He
HT
M
Ho
ol
=)
o]
M
=
B
I}

[
0
F
10

el

J
==

SN HA(SH) - NRAY - B bl ul

Ol
M

0%
o
=
x
2
20
R
J2H

M

8,750

Az 35,000 130,000 95,000
o 35,000
—Xlela 78,701 84 35,000,0002 35,000
21,000

5,250
8,750

M H OR

ZZoItuol=2g 38,330 150,000 A111,670
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05 MXEHM2ARES 38,330 150,000 A111,670
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415,680
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792,001
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232D
2EIIE HE U BE(SUBH/2D)
YRR N chol 7 2
- _ _ NUE &
SH - EB - S(BH) - MBAY - BES arey i BB
01 A& 332,000 787,011 455,011
OZS3lH AL 332,000
— X2l &k A EH JI B B XI5 4 ALY 332,000,000 332,000
= 199,000
= 50,000
= 83,000
03 Al&=0HH| 2,391 4,990 A2,599
OZS3lH AL 2,391
— X2l &k A EH R B S XI5 & ALY 332,000,002 0. 72% 2,391
|21 & A EH R B EF KI5 & ALY (XHHI) 700,000 0 700,000
401 AlEHIL 2O 700,000 0 700,000
01 A& 695,590 0 695,590
OXICIAMEME X TS 2XI0HY 695,590,000 * 14} 695,590
03 Al&=CHH| 4,410 0 4,410
OXICIAABHEHXES 2RI 700,000,002 0. 63% 4,410
R0I0{ I BB T LA (XHH) 171,224 0 171,204
401 AlSHIL 2RI 171,224 0 171,224
01 A& 170,000 0 170,000
OJIBAr ROIGIIHBE E& AL 170,000
—HYIE R A 30,000,000 45 120,000
—F8 Deel XY 50,000, 0008 *14! 50,000
03 Al&SCH| 1,024 0 1,224
OJIBar ROIGIIHHE E& AL 170,000,000 %0.72% 1,024
2O B A (M BLRIXEY) 300,000 0 300,000
= 240,000
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2N 252
Hu: BEI|G HE QL SE(SHYDY/B)
el 2R O chol & 2
_ SIER ~
CEHRI(SI) - HISRARE - Atod Siate =2
= 45,000
2 15,000
308 KIXICHHIS 300,000 0 300,000
3 240,000
= 45,000
2 15,000
05 XXl 300,000 0 300,000
Opes 300,000
—o =2 300,000,0002 300,000
3 240,000
= 45,000
2 15,000
MES S8t ALst 5,257,299 3,072,435 2,184,864
o] 3,094,092
= 27,533
, 2 135,674
HE 288 X 908,316 1,144,470 £236,154
| 94,092
= 27,533
2 786,691
MEs o 687,700 646,500 41,200
307 QIO 687,700 646,500 41,200
02 QIRHAMBE 37,200 18,000 19,200
OBYZHSI AR2 29| 2,500,0002 *122 30,000
OBYZMEIZS NP2 22| 60000024 *12% 7,200
04 QISALRE 650,500 628,500 22,000
LIV YT 60,000, 0002 *13] 60,000
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A 2et2& 1

HH: Hss St AYs 2o (2L AZ/HK)
&t H=s 2dst N tEA
SN - HE - SI(E) - NRAY - BAS 01l &k o e =2

OSuH=E & *dx e84 X 3,500,000 x8& = 28,000
O2EMEEd XA 7,000,000& 13| 7,000
OLMstasd N3 160,000, 000& *12] 160,000
OZENEZ d2Uza&=d XA 3,000,000& 13| 3,000
Oogtgd=Zxd=s 2 318 dMs3AM X2 1,000,000& 1585 = 15,000
OgtLZMEH =3 2 Ags8 MM X 1,000,000& 155 = 15,000
Oogtd=d=s &2 MsUalEd X2 500,000& 155 = 7,500
OgyzMaN=s =2 NsUsEsd N3 500,000&*19& = 9,500
Os2dZot =202z K& 35,000,000& *12l 35,000
O=Z8 WNEW=2IHE XA 10,000,000& * 13l 10,000
OMEd=s T It X 45,000,000& =13 45,000
OHM48] = At=t &= OI0tEtS U3 JHE XI& 70,000,000& *13] 70,000
O& Zofel HolE=EUa=d K& 3,000,000& 13| 3,000
ORM3el gLzt &= &3l Mzl X3 10,000,000& * 12l 10,000
Oogtdz2=t S0z izl X 7,000,000& 13| 7,000
O=cl&ot= 8= HUANR HEl K& 10,000,000 =13 10,000
OdE3FI HOE=UHS XA 7,000, 000& *13] 7,000
OLCHOIEZUSl #HALXIR 15,000,000 =13 15,000
OLCIHOIEEUS AKX (SHUHE) 17,500

— s 2,500,000& 13| 2,500

— e 1,500,000 1074 2=+ 13l 15,000
OHM3al gzt &= S =0zl HE X2 o0& 0
OSHEERX 2AECD XA (128) 1,000, 000%30E 30,000
oLodetee=mis XN 10,000,000 =13 10,000
O&= Z2EUsl Nzl K& 20,000,000& =12l 20,000
OHN32 g2t &=0FCHS JHEl XI& 10,000,000& * 12l 10,000
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307 gIz2tol &
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